PARTS LIST

g4 —HA4/)ILY— CDW26N,30N,26E,30E

NEE
F1) HRORFEPLEER7FEEFREPEEZR1OFEFBLIFR
T. BROEEMEMELEGY . EESOHDHIGERTY F
TEECTEREVWEY,

198641180 1B%1T
2008407 A03BH%K:ET

ktXsttartysy







£—F2—ASSY CDH-26N, 30N, 26, 30F

# 6138P-6, MIZSPHN, OIZSPON & 555

2K
n

mifo—K

il s

%

5%

02000702

AT b

02100479

¥a7k A )N —

0]

03133448

=) MHSA34488

@)

03380620

FSIHEV S (Xy¥%) M6X20

03340600

NAES 6

03160046

F—=2AZy7’NV ZTO—-605

03016206

F=IXTV»7 62062Z

DI~ WD

02100480

TV 75— 40

=

‘o)

03110300

AFw7Vr7 S—30

-
<

02100527

F¥rr—2A

p—
-

02100482

AINHTF— $39

i
A8

02100483

AZNV $35. 5

ot
()

02100528

Zr4hXe— (L)

olz|=|o

—
N

03110280

ATy Y7 S—28

—
Ui

02100485

2bYrS

=

[oey
a

02100529

7 hLIN—

o

=t
~]

03120110

oV»7 P—-11

ik
co

02100487

M) T

f—
0

02100488

TLT7vix

\8]
o

02100489

AZNATF— ¢34

28]
—

02100490

AP $28Xt12

O|0|0|0O

(38)
o

02100530

774 ¥ Y— (H)

olz[z|=|=

A6}
ul

03110220

Aty 2y S—22

b
s

03016202

FT=NRTV7 6202Z2Z

o
8]

02100492

F=REFw (1)

L0]
(o))

02100446

AR~

O

B
=

02100493

H—RE=F> (H)

o
o

02100447

FL—k

A8}
O

02100448

MR

-

O|0O

w
o

02100494

AZN $28%Xt14

o|z|z|o|g|o

W
p—t

02100531

P—KX¥+v— (3070)

w
o

02100451

N4 A—-35. 5

=

(V)
w

02100452

Ty b hT—

|0

w
RN

02100453

274U+ y s M17

olo[alo]z[o]o|z]o[=

. M,

W
N

03016201

F=NRTV>7 620122

V3
o))

02100496

A REZAY (3070)

=

W
~J

02000233

¥~ BX5x11

Ll Il RV Bl B VO B B O T I T I I e OO T S B S S I S ISR S S Sy Sy S B I O N S Iy S i O SO B B BV I NG QS [




T—F7—ASSY CDW-206N, 30N, 26, 30E

% 613SP-6, MIZSPHN, OIISPON X 35

#S

miha—FK

i

e

2

38

02100533

XA KFY— :

39

02100534

A —H)5—

40

03380860

ATV (Xv¥) M8X60

41

03340800

NAER 8

42

03160248

737 1/8”

43

02100462

=V 75y IR

NO, A50LIREFE L

44

02000633

=i E—IGE

M, O

45

03210228

ATV E W1 ,/4X28

46

03340204

NAEE 1/4

47

03086201

F=WXT7)>»7 6201LLB.

48

02100125

TIXFa2T

120V

b Y

02100130

K=K T7Y) 7

50

02100126

7 4—=IVE

20V

51

02100129

74—V KRV B

52

02100136

TN\ B

53

02100135

By bAZ2Va— W1,/4X10

54

02100137

a—KaArzy—

55

02000743

ALXx v

56

02100139

TRy —

57

02100143

e 2

58

02100140

7 v iy

59

02100141

H—Kr75

60

02100142

T2V VY —Xx v

6
64

02100127

e

O|O|O[(O|O|O|O|O|O[(OC|O |+

02000703

CDW2 6 N&#R

02000687

CDW 3 0 N

63

02100134

DFFEZ

64

02100133

=7V —h

65

02100131

KT 4 ==L —k

66

02100132

MfHEA

O|C|0|O

67

02000665

a—FK 3 03. 5 50¢cm

68

03150057

EE%T R3. 5-4

69

03150059

[EE%T NC—-5.5

70

03150026

Mik7r37 3P—15A

71

03150057

HA%T R3. 5-4

72

03150042

Xvw7 02. O

73

02100326

NFY¥xyag?

NUJUJI—'I—‘I—-‘l—‘..bub-".'--'NI—‘I—‘{\)MH[\JHNHI—*U}HNI—')—!P—'I—"&-LHHH&b'—‘l—"




£—%—ASSY CDH-26N, 30N, 26E, 30E

% 613SP-6, MIZSPMN, OIISPON & 2558

F5| MEmI—F i - AR B {i5%
74102000946 |F—R ¢6. 5X10cm 1
7502000939 |#KkIay7 1
76103160136 |#Kkavy7 14" BH1216 1
77103360512 |+FFrNhAY (SWE) M5X1 2 2
7802100138 |d4L3R 1







N—ZASSY CDH-26N, 30N, 26E, 30E

B
i

SO —K

it e

B

02000704

Re=2,

1

03050801

L7007 CF8UUA

16

02000705

RO v

12

03280800

vk M8

16

211

03340800

NAEE 8

16

03331000

RS 10

13

03330800

T 8

8

WWiIN|O|Vb W]

03220510

NIAf LAY M5X10

2]

o]

03220520

FardtiEARY M5X20

—
o

02000706

Xxu7 $22Xt5

—
=

02000707

Xyrvw? $20xt4

—
o

02000708

7379 hb (TF)

—
W

03200615

RIS M6X15

it
s

03340600

INAES 6

oy
il

03201230

ATV E M12X30

—
[ep]

03331200

PEE 12

[y
~J

02000709

#4 Kty K

4 3 Omm(26)

—
-]

02000748

41 kay K

4 8 Omm(30)

—
o

02000710

el w¥

—
O

03160255

AAVATv¥2 30B405030

o
(e}

03144000

A=)y SCB—40

o
—

03160230

VA= 7N M6

A8
\S]

03086202

F—NX7YV>»7 6202LLB

\S]
W

03110351

AFrw7VNr7 H-35

\S]
NN

02000219

*¥— 10X8%X136

WS}
Ul

02000658

FNATYTFIV M8 X 30 KI4 2y 2

\S]
L&)

02000039

TR T8

o
~J

02000711

Z4—BAX7 V) a—

3 8 5mm(26)

b
~J

02000749

74—FA7) a—

4 3 5m(30)

o
0]

03201020

MRV M10X%x20

po
'e]

02000712

A7 V) 2 —Hi5%

w
o

03210620

YRV M6X20

W
—t

02000713

hy 7 7L —h

w
\S]

02000714

7279k (k)

w
w

02000715

Qy7Frwh

w
fiay

02000185

NrFIVE RP160

w
u

03160029

[EEED ER22

o I IS G BTSSR (S (PSR TS S RSO S S I I Il I ST IS S I B T I O (Y S o o I o B SO (=N I G 3 N

34




R—ZAASSY CDW-26N, 30N, 26E, 30E

- K

it B

=

03210820

FAFAEVE M8X20

02000186

PSR

02000298

X— TXTX25

03120461

OVY7 S—-46

02000750

TV —F5

02000717

TL—ER#Hz

03160256

7TV (11 T)M16X40

03331600

TEE 16

03110409

XFrw7Vy7 DSP-40

02000782

KBRS L —h

03360615

5 RRY (SWH) M6X15

03120650

oVr7 P—65

03220608

NasdtiERY M6x8

oy R SN O S T I I e e T e




7 4 — KASSY

..%&V N m

@7[\.{“\ | OQQ/M@

OB




7 4—KASSY CDH-26N, 30N, 26E, 30E

5| mma—x wiE - S AR
103026202 [#—AX7Y>” 6202LLU 1
2(02000718 | 2=~y 1
3/03160257 [2/%—%Y— S2S25A=1416| 1
402000719 %— 5x5x9 1| 3B
5/03142238|#2rs—1 NC22386 1
602000729 [wr—skin 1 | 61 5A20R1-12
7]02000720 [*%— 4xax16 1| 6tt®
803026001 [#—XFYU>” 6001LLU 2
9[02000721 [sx71 1
10[02000722 |XPY 7 A5 1
1103210520 |[Fa/dALr M5%x20 7
[12]03110160|279v7Uy” s—16 1
13(03160258 | A/%—%%r—S1. 5S40A1016]| 1
1402100164 |%— 5x5%x10 1| 1344m
15(03110351 [2>vy7YU>” H-35 1
1603026003 [#A~<TV>” 6003LLU 1
1702000730 [ 7r—s¥r— 1 | H1.5SRI=C
18(02000723[%— 4axax15 1
1902000724 | Afsts 7 I 1
20[02000201 | 2 s—¥r— 1 | $1.55208-1210F
2103220505 | AANHIERY M5x%5 1
22102000725 | 74—FKilwo = 1
23|03200830 |/MAALE M8x30 4
2 " |03340800 [/ E& 8 4
(2503330800 | P& 8 4
2602000726 | Ar5— 1
2703160033 |74—KE—%—4RK25RGKA2| 1|26N, 30N
2703160015 | DCE—9— 1|26E, 30E
2803160034 [¥r—y K 4GK-18K =
29[03230545 | +FFrNEY M5x45 4| 28148
30[03330500 | MEE 5 4| 281 1B
31[02000202 [Kh%x— 4axdax20 1| 2814
32[/03150067 |L+7%2) NCS4008R 1|26N, 30N
32[03150062|L+7%7) SCK4007R 1| 26E, 30E
33/03250306 [ +FIUMY M3Xx6 SUS 3
34/03150006 | 2>y 7249+ 2P 25A 1
35[03160001 |Bikkrvr 1




7 4—FASSY CDH-26N, 30N, 26E, 30E

x5

o —K

dhit - B

=

36

02000727

7L—h

37

03360410

+FEFPARY (SWHF) MAX10

38

02000728

E—F—HN—

39

03360512

+FFrNAY (SWEF) M5X 1 2

40

03150068

SCuy?7 SK—14L

41

03150016

W ON—-OFF

42

03160230

ZVAZy TN M6

43

03150042

Xyv7 02. 0f

26N, 30N

43

03150042

Xvv7 02. 0f

26E, 30E

44

03141628

A=) DS16284 )

45

03150027

fikazrzs— 3P—15A

46

02000665

a—F 3 03.5 50¢cn

47

03150057

%7 R3. 5-4

VOl ES S Y S F Y ™ M PSP N S N P

10




MAEAS w27 AASSY CDW-26N30N

11



BERy 2 2ZASSY CDH-26N, 30N

#®S | WEHha—FK it HiE {lER -7
1[{03160259 |ffi#IBOX NT-20 1
2103160260 |73 vk 1
3103150079 |VL—%TH AP3822 1
4103230312 |+F NNy M3X12 6
5(03330300 |¥ES 3 24 | {1&
6103280300 |;A)ryhr M3 12 | &
7103340300 (1A EE 3 10 |18
803150069 |YL— FRL-263A100 1
9103230308 |+FFr Ay M3X8 2

10|/03150080 |Y¥vh 1] 1218

11103230306 |+ NphAY M3X6 14

12]03150033 |aryrao—Ny? SS31 1

1303150070 |avF>%— 10uF 1

1403230406 |+FHNhAY M4X6 3

15103340400 | \AEE 4 10

1603280400 |Af8rvr M4 10

17|/03150081 |#¥FAa 1

18(03230420 |+FF~hAY M4AX20 2

19(/03160261 |TA2 4

20103150071 | K a—Ani 1|12

2103150072 |&# 0~100 1| 128

22103150073 |2%A 11218

23103220303 |7;5dtibAY M3%x3 1| 1248

24103150006 | A*ry7249F 2P 25A 1

25103150016 | &K ON—-OFF 2

2603160001 |FikXxvr 3

27103150074 |2Mdav k3> 2AVZ4AT 2

2802000731 & TL—KE—%— 1

2902000732 |88 74—KE—F— i

30|02000733 |## AE¥—Karkro—i 1

31102000734 | &5 itk 1

32102000735 | &R 7R 1

3303150075 | Xid@siat KSS7A30A 1

34(03160262 |F TB-3 2

35/03150076 |SCayZ SCL—14B 1

3603150022 |a—K 3% O3.5 5m 1

37103150026 |Fik7r57 3P—-15A 1




&Ky 7 ZASSY  CDW-26N, 30N

38

Hifha—K

it

%

g

38

02100024

4X¥=20 wo

39

03230412

+EFRRARY MAX12

40

03330400

TEE 4

41

03150100

Ay A4 v

4P 15A

42

03150078

2F 9724 9 F

6P 15A

43

03150077

SCuvy?7 SCL-—18B

44

02000736

(%) 8ika—FK

5m

45

03150066

AZnartrk

NCS4008P

46

02000737

AV 7V hkAy

M3x3

4 5zt

47

03150058

7y 7y —

48

03150010

b2 =Ry —

X

03150011

ta—X 20A

50

03230312

+FEFNRY M3X12

A4 52E

51

03150037

¥yh7v7 ENB-201

52

03150036

IAXT7 4T —

SUP—-A3L-E

el Bl B N e Bl E el Ml el Bl e et Bl YO N B B

13







EHAC-26004%(t:K » 2 A A S S Y CDW-26E, 30E

#F5 | Wiha—F it Bl % fia%
1102000854 [#fEKy 27 ' 1
2102000855 | && e —IL 1
3102000669 | (%) 7&5a—FK 10m 1
4103150042 |*%+¥v7 0O2. OH 14
5103150061 | XZNart>s SCK4007P 2
A102000891 | () 7.8a—FK x&arff 10m| 1 . 4,

15






